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Vehicle on a horizontal road
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QUESTION )

A motorcyclist rounds a curve of radius 25 m and 36 km/h. The combined mass
of the motorcycle and the man is 150 kg. (i) what is the centripetal force exerted
on the motorcyclist? (ii) What is the upward force exerted on the motorcyclist?
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QUESTION )

Find the maximum speed with which a car can be safely driven along a curve of
radius 100 m, if the coefficient of friction between its tyres and the road is 0.2.

(A) 14m/s
(B) 13m/s
© 15m/s
(D) 12m/s
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QUESTION )

A flat curve on a highway has a radius of curvature 400 m. A car goes around the

curve at a speed of 28 m/s. What is the minimum value of the coefficient of

friction that will present the car from sliding?
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QUESTION ) LY

A car can be driven on a flat circular road of radius@at a maximum speed(v)
without skidding. The same car is now driven on another flat circular road of
radius 2r on which the coefficient of friction between its tyres and the road is
the same as on the first road. What is the maximum speed of the car on the
second road such that it does not skid?
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Homework

1) Revise lectuve

) Practse MDY e 8uestx’ows.






